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, The lines joining the mid points of any two sides of a triangle is always to the third side.
(A) Equal (B) Parallel (C) Perpendicular (D) Base
10)If u and v be any vectors, then ux v is
(A) parallel to u and v (B) parallel to u (C) perpendicular to u (D) orthogonal to u
and v
b
1) [ f(x) dr=
& -4 "
(A) _[f(x) i (B) _If(x) i © /(L. D) f®)- f(a)
h b
4
12) J ¥ dy=
0
(A) 0 (B) 6 ©)8 _ (D) 16
13) The slope of the line 2x+3y~1=0 is
p) 2 3 3
(A) 3 B) 3 © = (D) 3

14) The lines lying in the same plane are called
(A) Collinear (B) Coplanar (© Concurrent (D) Coincident
15)If the points (a, 0), (0, b) and (x, y) are collinear then

X ¥_ a.5 4 k., ¢ I By
(&) =+5=0 Lk ©) —Rg=s! @) —+=l

16) The graph of x+2y <6.is

(A) Open half plane (B) Closed half plane . (C) Full plane (D) No any solution
17) The fixed line of the conic is known as.

(A) x-axis (B) y-axis (C) directrix (D) latus rectum

- 18) The equation a(x” + y?) +@g%% 2 /’+ ¢ =0 represents a circle with centre _
—ag ,— & _f g i] :
@ Cor.-g NP (-£.-L) o5 (D) (ag, &)

19) Equation of lafus rectum of the parabola x* = ~4ay is .
(A) x=a (B) x=-a (C) y=a D) y=-a
20) (a-b)(a+d) =

A jaf -] B)yap +1 ©) 2a+d) By 0
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2. Answer briefly any Eight parts from the followings:- 8 x2=16

B o2
(i) Evaluate L:'m[x +xl ] (ii) Define inverse of a function f .

x==] x2 e
2 2

(iiiy Show that x=gasec® , y =btan@ represent the equation of hyperbola % - %2- =1
a

@) Eveluate ;"i“i[‘ B 9 (v) Find f'(x), if y=x’Inx
; h? B
(vi) Show that cos(x+4)=cosx— hsinx —Ecosx + E_ SinX + ...
(vii) Determine the interval in which f is decreasing , here f(x)=cosx, x€ [% . %)
(viii) If x=ysiny ,Find % (ix) Differentiate sin®x w.r.t cos’x
w I y=x"+2x*+2, prove that %=4x,;‘y—l
.
(xi) Write the Quotient rule for derivative of two functions. ~ (xii){find o =
dx y=2at
3. Answer briefly any Eight parts from the followingss 8 x2=16

(i) Find dy and & of y=+/x x changes from 4 to 441

(ij) Evaluate I':’—:fg:-%:— dx cos2x# -] (iii) Bvaluate !ﬁ dx

(iv)  Evaluate I (¢nx)* dx {v) Evaluate fmgﬁL— dx  (vi) Evaluate
x‘-x+6

cos? xsinx dx

O e | H

(vii) Find the area betwegn/X-axis and curve y =sin2x from x=0 to x =%

(viii) Find ‘h’ such thd@t A(-1'0h) , B(3 , 2) and C(7 , 3) are collinear
(ix) Find k’ soffhatithe lines joining A(7, 3) , B(k , -6) and line joining C(-4, 5) , D(-6 , 4) are
pefpendicular;

(x)  Find point of intersection of lines 3x+y+12=0 , x+2y-1=0
(xi)  Find equation of lines represented by 20x* +17xy—24y* =0
(xii) Find equation of line through (-4 , 7) and parallel to the line 2x-7y+4=0
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Answer briefly any Nine parts from the followings:- 9 x2=18 {
Graph the solution set of the linear inequality 3x+ 7y 221 in xy - plane. ( .

Define feasible region and feasible solution.

Find an equation of the circle with ends of diameter at (-3 ,2) and (5 , -6) j?
Find centre and radius of the circle 4x* +4y* —8x+12y-25=0 7 b
Find equation of Normal to the circle x* +y* =25 at (5cos@ , 5sin6)
Write equation of parabola with directrix x = -2 and focus (2, 2).
Find foci and vertices of the ellipse x* +4y* =16
Find equation of Hyperbola with foci (£5,0) and vertex (3,0)
Find sum of the vectors 48 and CD given A(1 ,-1),B(2,0),C(-1,3) and D(-2,,2).
let u=i+2j-k, v=3i-2j+2k ,E=5§~i+3g.Find |3v+wl.
Find v for which y-i=0,v?j=0,v-k=0.
Prove that gx@+g)+gx(g+g)+gx(g+g}=0.
Find @ sothat i+, i+i+3£ and 2i+ j— 2k are coplaner.
Section ---===-==s=-- 1
Attempt any three questions. (10'% 3 =30}
3x if xs-2
If f(x)={ **-1 if =2<x<2
3 if p )
Discuss continuity at x =2
3
Differentiate M(_lell w.r.d. x

A%

Show that J-—Z——J_l——;'
a +x

If x=sin@ , y=sinm@ , show that @ )y xy, +miy =0

dx =in(x+Va® +x*)+cJhere a >0.

o
- 7 Cos x
Evaluate the definite integral j}

sinx (2+sinx)
e

Minimize z = 2x +@ sdbject tothe constraints x+y23; Tx+5y<35  x20; y=20
Find the equationjof thetangent drawn from (-7,-2) to (x+ D2+ (y- 2)?2=26

Using vectdrs, proveithat sin(e ~ f) =sinacos B—cosasinf
Find area'of fegion bounded by the triangle whose sides are

Tx-y=10=0,10x+y-41=0, Ix+2y+3=0
Find the centre , foci eccentricity, vertices of ellipse whose equation is

x2 +16x+4y2 -16y+76=0
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